==
N = 0] &F AF S & AN A
20198 &= 20l A LBHS H A X & D
2N #HEX A D
M UXZ2E P8
Sl 2MEE s T CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ELPSINEZ N 20,740,447 17,608,340 3,132,107
= 2,007
= 246,638
= 20,491,802
ANX=28 78 7,007,990 5,636,284 1,371,706
= 2,007
o= 74,438
= 6,931,545
=2H3E &8st Zof 287,500 267,500 20,000
=Ha3M 435 287,500 267,500 20,000
202 044l 262,500 242,500 20,000
04 =2 M 3t dl 262,500 242,500 20,000
222 oA 150,000, 000& x 14! 150,000
O&I NN oA 6,250,000 x4 25,000
OZ221 22 g 2,500,000& 35 87,500
301 et A= 25,000 25,000 0
06 212to1 =22 (4 bl 25,000 25,000 0
OZ&22 2229 g 2,500,000& x10H 25,000
gt=s XA 694,762 686,404 8,358
& 3,000
= 691,762
CHLH 2l SHAFXI& 55,384 57,520 N2,136
201 Bt 39,704 46,840 NT,136
01 AP 22| H| 4,704 3,840 864
OULHR SHAIZE S EH(ZSNH)
8,000 x7H»7L x12& 4,704
03 A2 G HI 35,000 43,000 A 8,000
OZANZ HIEZE MU 5,000,000 *13| 5,000
OHNe6zl MR B2IAs0ls A=W
7,000,000 =14l 7,000
OUUe =dAl =& 3,000,000 =14l 3,000
OO0 Z2A X StotS U3 20,000,000 14! 20,000
202 044 4,680 4,680 0
01 2L HI 4,680 4,680 0
OFQ8A 27 U EL(BH)
130,000 x3H «12& 4,680
203 € R F & 8,000 0 8,000
03 AIEH =X H 2 F X Y| 8,000 0 8,000
OANHFRHFZFERH| 8,000,000 8,000
301 et A= 3,000 3,000 0
09 HAIAHI BEAZ 3,000 3,000 0




SN BEXE D
Zu: GiTy P
[s]3 PSS I

ool ¥EE YINE (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OUUWR =aAI 8 & B4
500,000& *2& *33] 3,000
T HAIMFA 175,795 123,800 51,995
201 Bt H | 33,800 33,800 0
01 AP 22l Yl 19,800 19,800 0
OZ4HINA 2l 15,000,000 15,000
ORHANHET SHH(BH)
8,000& x10Y x5 x12& 4,800
02 33294l 14,000 14,000 0
O&= AlEZ+823Hl 4,000,000& *13] 4,000
O&= AIEZ823 ZNSME 22
5,000,000& x13] 5,000
ON=Zs0HEXNSDE 23| 2,000,000& x13] 2,000
ONetEX AIEZE23Hl 3,000,000 *13] 3,000
203 PR =&Y| 141,995 70,000 71,995
01 J|22I PR =&Y 54,815 0 54,815
OJ#2gdF=a| 4,567,916& x12& 54,815
02 RO R =AY 26,180 0 26,180
O&JAINNML R =AY 26,180,000& 26,180
03 AIHZ=A SR =AH| 61,000 70,000 29,000
OANMBF=AHRFXH| 61,000
— MESH A 8,600,000 8,600
— YN AMNEFA 20,000,000& 20,000
—ZEHFRYR AMMFA 15,000, 000& 15,000
— 22 AHS FOUHA=Z AH =
5,800,000 5,800
—2AEFQLAL S F& 5,800,000 5,800
— Aoty 2 2&E /=23d 5,800,000& 5,800
OIAIE R =34 173,333 256,974 N 83,641
201 et A | 50,427 32,876 17,551
01 AFR22t2ldl 50,427 32,876 17,551
O3RAZT &= 12,950 & =60 0H 777
OQARI&S =< 70,000& x5H x153] 5,250
O&AFAOA FL(ANBREE) 3,000,000& 3,000
OHE/AIAEY 200,000& x5 *103] 10,000
OF YA L A4 15,000, 000& =14 15,000
OtASREA dSA 2,000,000 2,000
OMHOLNMEHUE =2 1,200,000& x12& 14,400
202 04l 89,000 44,000 45,000
01 2LHOHI 4,000 4,000 0
OQCIAN2HESAMP 4,000,000 4,000




2N

Yy X2Y 7
ool XEY I CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 =Xl =t Hl 85,000 40,000 45,000
OMEIZEH 5,000,000 =17 85,000
301 et a =z 10,000 5,000 5,000
06 212toI= 2l 04l 10,000 5,000 5,000
OMEHEH = 5,000,000& »x2H 10,000
303 Z&= 6,000 8,000 A 2,000
01 243 6,000 8,000 A 2,000
OMEIHEH 2,000,000& =3 6,000
308 XXM SO A 17,906 15,000 2,906
07 IXNHHAR S = 10,000 10,000 0
ONYZLH YSAE 223
10,000, 000& =13l 10,000
10 B2 SO 3&HEAE A 7,906 5,000 2,906
OEZXNLAMEBAAH SRXLE |
7,906,000 » 14! 7,906
AUMAAEH 24 15,000 15,000 0
303 L& 3 15,000 15,000 0
01 243 15,000 15,000 0
OIS U SHDL2A HAAE
15,000, 000& 14! 15,000
Mo 24 XI& 72,960 71,400 1,560
307 gl2tol & 72,960 71,400 1,560
07 A3 XN=3 72,960 71,400 1,560
OMZERS 5,220,000& *0.65%20H 67,860
OMotFExS N 5,100,000& »1H 5,100
HI&E 72 2t 48,000 46,000 2,000
101 @124l 48,000 46,000 2,000
04 JI2ZtHZ22EE = 48,000 46,000 2,000
OJIZHZ2=2X &&=z 2,000,000& »20H 40,000
OJIZtHZ2 2 Xt 42 = 8,000,000& 8,000
Axe= 8,840 5,000 3,840
201 L2l 8,840 5,000 3,840
01 At 2t 2l 5,000 5,000 0
Ogz=dlE Z&EHIE i ¥ ®HEE M
2,000,000& 13 2,000
Oz E FOAAS & 2UEIDAN 7
30,0003 255 *43] 3,000
03 &Ar2 I 3,840 0 3,840
OAHZ=YE FAUAHAAE &I N S 4H|
8,000& *x80F 62 3,840




2N
X ZH -
L= B

el

- _ _ RE]
M- B (B H) - NSAY - B %@ﬁ 2t
S XAAIZEE 3,000 0 3,000
== 3,000
201 gEt24y| 3,000 0 3,000
= 3,000
01 AP 22| H| 3,000 0 3,000
02019 T X AF AlZE2 3,000,000& 3,000
& 3,000
= 01Ol LS A} 14,930 16,530 A 1,600
201 LBt Y| 14,930 14,230 700
01 AP 22| d| 14,930 14,230 700
OZ219o & AMAMAIS = 70,000& «14H 980
OZolo & AMAXNZES HE 25,000 x50 1,250
Ozole &5 2 I H&
1,100,000 +x7 M E 2 7,700
O=&8%& M= 2,000 %2, 5000H 5,000
EEi= =N 6,800 7,920 A 1,120
201 gEt24Hy| 5,200 ,200 0
03 Al HH| 5,200 ,200 0
O=ss dAIFA 1,000, 000& *x23| 2,000
O UMD =& 800,000 *43| 3,200
301 LBt A= 1,600 ,600 0
09 SHAIAHI B A2 1,600 ,600 0
ODn&gUa) =& 400,000 43| 1,600
MIAXMO ASHES 115,720 ,260 32,460
201 et 81,200 ,500 32,700
01 AP 22| d| 81,200 ,500 32,700
OAstele =42 3,300,000& 1824 59,400
OAsHIE (XL, €2 5)
5,000,000 =14l 5,000
OLNSHSA =% 200,000 x4 x12& 9,600
QLSS Al =% 100,000& »6H x12& 7,200
202 044 3,120 ,360 A 240
01 2L I 3,120 ,360 A 240
OAs U2 ST (ENW)
130,000& »2H x12& 3,120
303 ZAZ2 500 500 0
01 Za32 500 500 0
OasdA ZAM2 X2 50,000 10X 500
305 A2 S 30,900 ,900 0
01 & Z2S 30,900 ,900 0




2N
X ZH -
L= B

el

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Oaxs&HlE 30,000,000& 30,000
Oass0 42 HS 300,000& =33l 900
HEZISAHMHA SEXNIMEdH 24 4,000 0 4,000
201 Let249] 4,000 0 4,000
01 At 22l 4,000 0 4,000
O 119(MEBBAMEIA SEXJME)ESR
=23 2,000& %1,0000H 23| 4,000
Mt B2 M 29 1,000 0 1,000
201 Let24d] 1,000 0 1,000
01 At 22l 1,000 0 1,000
OXNgHMaRAS 23 100,000& 10 1,000
SHEX A 1,819,891 1,462,673 357,218
FEH=EX XA 157,986 150,299 7,687
101 @124l 74,132 67,359 6,773
M4 II2HZ2Z2NSES 74,132 67,359 6,773
OKOESH(EAMEI) UM oY 74,132
—-Jl2= 66,800 x3H »244 48,898
— n sl 2,000 x3H 244 1,464
— =AM 4,000 *3H %2442 2,928
- T4 66,8003 x3H «52 10,421
B PN R 72,8003 x3YH x10 2,184
—4AHEE = 65,895,000& *12.5/100 8,237
201 Let249] 43,854 40,380 3,474
01 At 22l 43,854 40,380 3,474
OHEJAZE 1=l 290,000 *35H 10,150
OXIHR-EMH 14,500& »2,000% 29,000
ONFASMT AREN SHU(BY)
8,000& x7H+7+128 4,704
202 odl 20,000 21,560 A 1,560
01 = LH o4 bl 20,000 21,560 21,560
O=2EHME A& 200,000& x100H 20,000
303 Z& 3 20,000 21,000 21,000
01 Z& 3 20,000 21,000 A 1,000
OFJZE HAX A 3,000,000 » 14! 3,000
ONZH0I2Y 2SN
500,000& 1701 2 & 23| 17,000
HEXN SXHE 22 1,188,000 957,825 230,175
201 LBt 1,188,000 957,825 230,175
04 S SN ME A B 1,188,000 957,825 230,175




AR E= DAL=
?

dd: Ux=2d 24
& MFFH=EX 5 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Od8™ =2XNHE 29 1,320,000& 900 1,188,000
FAt2el 316,602 202,040 114,562
101 @124 dl 96,322 48,440 47,882
4 JI2ZHHZ22XEES 96,322 48,440 47,882
OEMEBA 22 26,539
—Jlas 69,0703 x 1 247 17,061
— WSl 2,000 x1H %247 494
— =4 4,0003 x 18 #2247 988
- =54 69,0703 1«52 3,592
—RY2RE 103,605 x 1H » 1 104
—Hx==g 75,0703 x 18 10 751
— BE S| 300,000& 1«23 600
—4EE = 23,590,000& *12.5/100 2,949
OBA B2 LAY AR
69,0703 x 1 25 1,727
OFLHAE FA 1A 23,150
—Jlas 71,4003 » 18 208 14,852
—F5d 71,4003 x 1«52 3,713
— QX 76,4003 x1H 10 764
— wEHl 2,000 x1&H %208 416
— = A 4,000 x 18 %208 832
—4dE2E = 20,577,000& *12.5/100 2,573
OFUAY =2|& ol 44,906
= 69,0703 x2H x208 28,734
— T4 69,0703 x2H 52 7,184
—Qx=g 75,0703 x2H 10 1,502
— WSl 2,000& x2H 208! 832
— =AM 4,000 »2H 208 1,664
—4EBE= 19,958,000 2% x12.5/100 4,990
201 L2 | 173,630 138,800 34,830
01 At 2teltl 150,530 124,900 25,630
O&E NSzl 36,750
—Y2HAHI 4X 800,000 14 800
— HALSHI (A AMAIEER)
350,000& *53| 1,750
— A2 ARE Y 2,500,000& =122 30,000
— g3y FFANE 150,000& *123] 1,800
— g3y 37 2 300,000 =3MI E 900
—HEAFSAHY E27Y 300,000 +3MI E 900
—g&A H5) 2z N= 50,0003 +12& 600
Oagg 2 2L (SH H=ES8)
10, 000& x50 13l 500




SN BENAD
?

MM X2 =il
ol NASY=X 5 CER-ED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
OaEg 2J FL(SYH HIEE)
10,000& *509H 13| 500
Od=Aag(5H) 93,780
— X 60,0003 *4H 117 28,080
- =3 60,000 *3H 365 65,700
ORFUAY A2F F2¢ 5,000,000& * 14 5,000
OFAEA S%(AY, 4B, R2F, 24a)
14,000,000 =14 14,000
02 35244l 23,100 13,900 9,200
OFMWZRAAE SXEE 2,000,000& x4 7| 8,000
OFAMEXAH =2 300,000& «12& 3,600
OFAZ2| CCTV R X2 21| 3,500,000& x 14 3,500
o= A (X2UAII)
1,500, 000& *x2H 3,000
ORUAY 352Z| 5,000,000& * 14 5,000
405 XtabF S| 46,650 14,800 31,850
01 AL 2B F SHI 46,650 14,800 31,850
OEYMIN & EHAWN 2 500,000 x2H4 1,000
Oazal 3 osext ¢ 250,000& =184 4,500
Oatztal 3o X7 150,000& *35I4 5,250
OFUAY &HIIF FLHI 35,000, 000& =14 35,000
Og&A ZIIHEAD 2L 400,000& =14 400
OWAA SHA B2 ¢ 500, 000& =14 500
SR s N 74,400 63,600 10,800
201 Yer2 2t 24,400 48,600 £ 24,200
01 AFR2 2t 2l Yl 14,400 3,600 10,800
OIN2L2A A2 1,200,000& x12& 14,400
03 M AtE G 10,000 45,000 A 35,000
O32& L Atstg stots U3
10,000, 0003 *14] 10,000
202 04| 45,000 10,000 35,000
04 = Ml 30 i 45,000 10,000 35,000
O323 S AFZHH a2 1,500,000&*30Y 45,000
303 A2 5,000 5,000 0
01 ZAZ2 5,000 5,000 0
ORI LA S&8X Ast 250,000& *20H 5,000
SR8 Lsxg N 15,000 6,000 9,000
201 et A b 5,000 3,000 2,000
03 SHAIS H I 5,000 3,000 2,000
OZ222cx HsU3 5,000,000& * 14 5,000
303 ZAZ 10,000 3,000 7,000




2N

MM UX=2E =il
ool NABM=R S EERED
_ RE]
S EH B (BH) - MBAY - BAS Ol At o %@i HRE2
01 A2 10,000 3,000 7,000
O222L-X H&AX Ast 6,000,000 1Al 6,000
OZ22RAL A I35 200,000 x20H 4,000
E22e 67,903 82,909 A 15,006
201 gBt2Ay| 13,380 4,400 8,980
01 AFR 2t 2| 4| 13,380 4,400 8,980
OJIS2 EIIao s EFA
70,000 2H %23 280
OJIsas &5 10,000,000 « 1Al 10,000
oJIgsas 28 ¢ 200,000& *53| 1,000
OFEBZ2MAOF EFAEE 70,0008 *x2H x153] 2,100
202 o4l 4,680 4,680 0
01 2L HI 4,680 4,680 0
OJIZE8 d2 & I S(&5Y)
130,000& »3¥ x12& 4,680
308 XHXIEHSOIA 49,843 73,829 N 23,986
10 212 SUHUSHEAEAE AT Y| 49,843 73,829 N 23,986
OEZII2AUANAE =8 SX22
49,843,000 x14! 49,843
8N FHIOHA 8,816 11,720 AN 2,904
ZOIHZ FHHA 6,816 9,720 A 2,904
201 et 9| 5,256 4,200 1,056
01 AFR 2t 2| bl 5,256 4,200 1,056
OFMMERES 3o =< 70,000 *8H 43| 2,240
ORNYS LEX SHHI(BH)
8,000 x3H 7 x12& 2,016
ORMIME AIR2d 500,000 23| 1,000
202 044l 1,560 5,520 A 3,960
01 2L Y| 1,560 5,520 A 3,960
OAMMNE LR (W)
130,000 x 128 x12& 1,560
AHOMHZ H &= 2,000 2,000 0
201 gEt24Hy| 1,000 1,000 0
03 Al HH| 1,000 1,000 0
OAMME & 2t
125,000& *23| *4 4 S K| 1,000
303 ZA 2 1,000 1,000 0
01 A2 1,000 1,000 0
O=Z0AHMIMNE L= H o 1,000
= 300,000 1 % 13| 300
— 24 200,000 x1H x13] 200




SA: BEXED
Ha: X2E 7

&€ ZE2d AMMNA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-3 100,000& *1H x 13| 100
— g 50,0003 x8H 13 400
daZES A2 2,237,199 1,883,431 353,768
= 2,007
< 26,031
s 2,209,161
sHER =& 59,117 65,493 26,376
< 16,581
[ia 42,536
101 @124l 9,728 9,247 481
= 1,495
s 8,233
04 JIZHHZ 2RSS E =+ 9,728 9,247 481
OAMYHZAL JI2EH2 2 Xt 6,739
—ERAN L FAZUX A9
69,3502 *2H x2821 «80/ 100 3,107
— oo oy
66,8002 *1 x192«80/ 100 1,016
— AR E Zel A &2 Y
66,8002 « 1 x2824«80/ 100 1,497
- B8z 5,618,560& *8.37/100 471
— Sl 2,000& »4H +27 216
— =2l 4,000 «4H«27 432
02019 E S Atg| = At 2,989
— DAttt e 69,350 x2H x212 2,913
< 1,495
s 1,418
— A2 A BEE 2,912, 700& *2.6% 76
201 £B-2dH| 49,389 56,246 A6,857
< 15,086
s 34,303
01 At 22l 49,389 56,246 A6,857
OMYMZEA ESEAA 12
66,800 *6H 262 80/ 100 8,337
OsAHHB 22t 40,0003 * 150 6,000
OsHHEE & ML €35 4,000& 1002 400
02019 =AM A &5 ZALR Q12| 22,446
— ZAMA 66,8053 x18H x16L 19,240
< 9,620
s 9,620
—dAMgE A 66,790R x4H x12 3,206
< 1,603
i 1,603
02019 =AM AN dE 2
6,000& 8104 4,860
< 2,430




SN BEXRDY
M Hx=2E 8
& dAFESA 2L (Sl & &)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 2,430
02019 M= MBI ZTAN SAEE 2
2,000& =184 36
< 18
i 18
02019 S ASI A ZALE R0l
1,000& »2,430% 2,430
= 1,215
i 1,215

02019 BSAZ AL EE2E EHIE

50,0003 *8IH 400
T 200
= 200
02019 =S AFSI A B OA 22t
40,000& *100% 4,000
02019 = AIS A ZAEE 2
0,000& x24H 480
HEHES 29 814,926 828,234 A 13,308
201 Let29Y| 248,086 243,384 4,702
01 AP 22l Yl 92,101 88,431 3,670
o2Lietg AZE9H 2 46,180
—StZ O A 2014 St=2ALA 65,0003 *2004 13,000
— MSLIl A GAS 221,200& = 150H 33,180
OgEL2ZTEYN o] 16,431
—PCE YA g4 0E 2ol A
27,7003 *5004 13,850
— AHS g OH01E etol&a A
430, 1003 =64 2,581
Odejm AZTENH 7L 7,500
— THA S Z(Autocad) H2HAIEA
400,000& =154 6,000
— AR & Z (Photoshop) SH2HAIE A
500, 000& *3H4 1,500
OPCXIE HAERHA R (HEYHUEIE)
52,000& *230 4 11,960
OPCRE2AXSY T2 H2tAI2A
450,000& *54 2,250
ORH™ PC OIRA & IB2E ¢
20,000& *2004 4,000
OHEIFES2Y I SHH(BY)
8,000 x5H x7L x12& 3,360
O&=J dxtz 35,000& x12& 420
02 332Z 4l 155,985 154,953 1,032
O AAE MAEH S X224
216,000& = 12& 2,592
OARE ¥ E2HAHLAIAIAE RXE |

308,000& »12& 3,696




SN BEIE D
M UXZ2E P8
ool MAFBEAE CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
OBOotHIEH MAEH S XE4H|
1,625,000 x12& 19,500
o2Liet & JIs2 A3 0l SXIEZH|
1,670,000 x12& 20,040
O2uet & JEa HAAAE QX244
405,000& 12& 4,860
OHFESEE HEKXD KAE4H|
1,400,000 x12& 16,800
OCHUWAIS 22 AAYE A2 4|
239,200 x12& 2,871
OgeE2dEH SAEx| 1,650,000& ~12& 19,800
Oy KAE 4| 293,000& x12& 3,516
Oea JtastMAEH | X244
1,026,000& x12& 12,312
OWPS(RPEAMFMAZX) KX 22H|
266,666 x12& 3,200
OBZEXIIY0HM 22lAlAE SX 22|
386,500 x12& 4,638
OMeIABE S AIAE S X E |
290,000& x12& 3,480
OBSHEESZE2ANAE A 240
1,490,000 x12& 17,880
OFetEE ASEFHBAAE X224
135,000& »12& 1,620
O2Ltet AIAE(HWS) SXE=
890,000& x12& 10,680
O 2 2+H(UTM2000) & Hl S X2 4=H|
245,000& x12& 2,940
O&8ES0I2 EHOIXN SXNE=
2,000,000 *2H & 4,000
ONMSHFIZE E20 AlAE X E4H|
130,000& 12& 1,560
202 044l 7,800 7,800 0
01 2L I 7,800 7,800 0
OPCEZE LU HEYZT &Y HAY(ZENH)
130,000& »2H x12& 3,120
OJHQIAEE LU HNBZ0ot AlgYf HA(SNH)
130,000& *3H ~12& 4,680
308 AMXISHMSOIA 101,540 99,800 1,740
10 B 2SUHUSHEAEAE AN Y| 101,540 99,800 1,740
OAZF 20|88 MAEH RAE%H|
6,350,000 x12& 76,200
OANZF THHlER2HMH 2SAY S X224
520,000& x12& 6,240
OXNLHEESHEAIAE HHAQAT 84
S Al2teldl 7,000,000 13| 7,000
O2LI2tAIAE AHdHIAOAZR 2EXE L AS
SW S X2 24| 12,100,000& *13] 12,100




2N #HEX A D
M UXZ2E P8
ool MAFBEAE CER-ED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
405 XHA&HF S HI 457,500 303,250 154,250
01 AL 2 ZF S| 457,500 303,250 154,250
OZEH FL(UHMHAS) 287,500
— 2 1,000, 000& »230CH 230,000
— 21U H 250,000 x230CH 57,500
QICIBESRSUIIAIAEH 2=
85,000,000 x 1Al 85,000
O%sst SAEU(VPN)RHM (ME, BHANLHM S
<) 40,000,000 =14l 40,000
OUE<SRIAa MHE ARX 7
45,000,000 =14l 45,000
NEEES 29 1,570 201,570 A 200,000
201 LBt 1,570 970 600
02 2224 4| 1,570 970 600
OEHOIX &Hel AIE2 50,000& *5A4 250
OZHOIX S2BEOAANHA AIES
110,000 x12& 1,320
HE3 0l 29 6,700 5,300 1,400
201 et Y| 2,700 1,300 1,400
01 AP 22| H| 1,200 0 1,200
O=g Z=230tE8 AF2He Z|
1,200,000 1Al 1,200
03 A2 HH| 1,500 1,300 200
OFBES0IES #HAFXE 1,500,000 1,500
301 LBt A= 4,000 4,000 0
09 HAIAHI EAZ 4,000 4,000 0
OXES0IE e ¢ 3o &A 4,000,000& 4,000
HES0lS T2 )32 4 37,318 30,256 7,062
& 9,450
= 27,868
307 2iz2tol & 37,318 30,256 7,062
= 9,450
= 27,868
02 QIZFA AAIE E X 37,318 30,256 7,062
OXS30I28 T2 )8HULK SAAY
18,659,000 »2H 37,318
& 9,450
= 27,868
HEHEEAMAE 29 384,184 373,402 10,782
201 Bt 356, 104 352,402 3,702
01 AP 22| H| 6,416 6,320 96




SN HEXED

M UXZ2E P8
ool MAFBEAE CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OFXNSEAAILEY, SEEH A28 2
4.,000,000& 4,000
OHPHBEAMANESHE LR SSH(SN)
8,000 x3Y 7L x12& 2,016
Oogssg&d|(erF=o1)gad o0l & 400,000 400
02 232 H4| 349,688 346,082 3,606
OZVIEEEAY 3HH(Z-SC2) 32
4,000,000 x12& 48,000
QliSs2edsAl 23642 (5,H)
25,000 x 110 A~ «12& 3,300
onrss2gs )| 88348
7,200 *3210f A+ 12 27,735
O2IEBEEMAH ALY AIE2
525,000 x12& 6,300
OT/02 dg23d(12sl8)Aes
300,000 x12& 3,600
Onag dMstAsz 3,000,000 ~12& 36,000
OgbtEg & oY & AIEE
1,400,000 x12& 16,800
OEE 2N AIX AIAE Al22
3,000,000 x12& 36,000
Oossdets ) A4 E3H, ARS, M-Gov SMS =& &
ANES 200,000& x12& 2,400
ODMB HEAIAE SMY FHAES
250,000& x12& 3,000
ORHY 2UctAIAE 38 AIEE
160,000& »12& 1,920
OIPTED|, HAXMXNSWEDI S FAESH
1,808,750 x12& 21,705
OPCIHUY A X EZ4H| 660,000& x12& 7,920
OPoE HB(SEXH4EE AKX 5E)SXEZSH|
1,635,000 x12& 19,620
OZIDEBEMNAE A B8 A2 4|
640,000 x12& 7,680
OYAa3 o AAE KA E4Hl 500,000 «12& 6,000
OYS(SE)AMEZH SN2
500,000& x12& 6,000
OSKMEH AH S JIEl KXE x|
367,000& x12& 4,404
OUWPS(E4rE2 SEHIMIAZZZX )X 24|
712,500 = 12& 8,550
OSKEE W2 A S E 2|
680,000& x12& 8,160
ONAC(H 2 22| AlAE U )| SXIE4H|)
179,000& »12& 2,148
OFe3d FESNU(UEKIA/ENEZ2)RX
2 21| 1,045,000& x12& 12,540
OUARX KX 24| 740,000 x 1200 & 8,880




SN BEIE D
M UXZ2E P8
ool MAFBEAE (el @2)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OSE 2 XU AKX AAE SA 24|
308,000& x12& 3,696
OltsesAlAY SX 22|
1,750,000 x12& 21,000
Oflotz XA HEANAE KX
340,000 x12& 4,080
OZdY, sFHANAE KA E4H|
250,000 «x9& 2,250
OntsesAIAE 42/ 50,000 *400CH 20,000
202 04d| 7,080 0 7,080
01 2L I 7,080 0 7,080
OSHYRET U SHEY HE(ZY)
130,000 »3¥ x12& 4,680
OSAAFINE R =& 20,000 55| x2H «12& 2,400
308 XX SHHSOIH 21,000 21,000 0
07 NIXSHHM2UAREESE S 21,000 21,000 0
OZIIEEBEAMMH AL H2EHS(E-AZ22H)
21,000,000 21,000
HBEAMANEEH U3 926,200 350,740 575,460
401 Al HI L £ 0HHI 35,000 0 35,000
01 Al& H| 35,000 0 35,000
O3 MBS AAE DHZAH
35,000,000 x 14! 35,000
405 XHoHFE S HI 891,200 344,500 546,700
01 XA E B F S| 891,200 344,500 546,700
OXotZ |PHESEGSAIAE DH P2
75,000,000 1Al 75,000
Osgllsdy SM4 UPSEH 2L
7,200,000 =14l 7,200
OMSQHY (1oT) XIEA MHAY 2=
800,000,000 » 1Al 800,000
Ooasta 3o &g 0tol3 #¢ 600,000 =15CH 9,000
ZIRALAISZ2ED|BAIAE =K () 7,184 28,436 N21,252
= 2,007
= 5177
201 et | 7,184 28,436 N21,252
= 2,007
= 5177
01 AP 2t 2| H| 7,184 28,436 N21,252
OANZF 2SIt =&Y WA & 850t
2 SHAFS Y] 7,184,000& *13] 7,184
= 2,007
= 5,177
DM NS 532,398 556,356 N 23,958
o=} 15,607




SN HEXED
M UXZ2E P8
el DI N P CER-ED
_ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
o 516,791
cloteE XA 22| 86,454 96,282 N9,828
&< 9,240
= 77,214
201 LBt 20,994 28,002 ANT7,008
01 AP 22| H| 20,994 28,002 A7,008
O0l&EEL2XEAM 5,000 %3308 1,650
OFI2E Y EU0IHE 22
100,000 x504 5,000
oaeg = 2 I PY (0T 23)
10,000 *618JH x23| 12,360
Qa2 = &H| 8,0002 x 1 248! 1,984
202 044l 4,680 6,240 AN 1,560
01 2L I 4,680 6,240 A 1,560
OBBASHE 2 (59Y)
130,000& *3H »12& 4,680
301 et A= 42,300 43,500 AN 1,200
02 et=adetk=2 3,600 4,800 A 1,200
OoEXHEEZ2 300,000& »3Y x4 = D| 3,600
06 212t01 = 2| (4 HI 35,700 35,700 0
O8% B2+ 0% LYAE
1,500,000 342 x70/100 35,700
09 HAIAHIBEAZ 3,000 3,000 0
OO0l =T ZEYR FX 300,000& *10&] 3,000
307 2I2t0| ™ 18,480 18,540 A 60
o= 9,240
= 9,240
06 22 18,480 18,540 A B0
OO0 HAMNEE Y 18,480,000 « 1Al 18,480
& 9,240
= 9,240
AFS EER 22 408,160 374,690 33,470
301 LBt A= 8,400 45,300 A 36,900
06 212to1 =22 (4 H] 8,400 45,300 A 36,900
OMOIS XS X ol 22 At
1,500,000 *8%H 70/ 100 8,400
307 2iz2to| & 399,760 329,390 70,370
02 DI AAIE E X 292,130 215,140 76,990
OAMNUEQIAISI (HE2SE2E) 10,000,000 « 14! 10,000
OXICHALEY SEAIE 2= 2 SHHAXHGE = (0K
sSt2sEe) 3,000,000& =14l 3,000
OXGSHS 22 L 24 B XY 24 A
22 AIAS(HERSSE2E) 4,000,000 «14! 4,000
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AR E= DAL=

M Hx=2E 8
el DI N P (el @2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OfixZe do=gols =gl
11,400, 000& 14! 11,400
OFNoZ ME2s 2L
13,200, 000& 14! 13,200
OHl2AAII2s dtZEs 2SN
25,850,000 =14 25,850
OXssHY Motz X g 2SN
22,650,000& » 14! 22,650
OMOtS2s deatzZXg 2SN
29,000,000& =14 29,000
04 DIZFHALALSE E X 5,530 34,750 N 29,220
O=0SESHIUS (BEHAYIR2S)
2,530,000 » 14! 2,530
OO0lZZSAX &otsUal (01&2E23)
3,000,000& =14l 3,000
AELHH 22 24,000 66,200 A 42,200
< 2,800
s 21,200
301 gt 4= 24,000 56,200 A 32,200
< 2,800
s 21,200
04 tSLHUHAH XA 24,000 56,200 A 32,200
Osgdgies 29l 5,000,000& x13] 5,000
O0d NE2-UHES 24|
5,000,000& 13 5,000
ONsgdi Hesl sotsial
10,000,000& =13l 10,000
OXotz axsddiied NA(L=Hl)
4,000,000& =14 4,000
< 2,800
[ 1,200
MOISXNEX NS 10,034 10,034 0
= 2,067
e 7,967
301 et d = 10,034 10,034 0
< 2,067
s 7,967
02 Zetz Ltttz 4,134 4,134 0
OMOIEXEXRd HEHEEZ 826,800& x5H 4,134
< 2,067
s 2,067
09 SALAHIE &S 5,900 5,900 0
OE=ZMOIS XX E 195,000& 20 3,900
OMOE s2du= 200,000& x10H 2,000
A2 & STAY 3,750 3,750 0
< 1,500
[ia 2,250




SN BEIE D
M UXZ2E P8
el DI N P CER-ED
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 3,750 3,750 0
== 1,500
= 2,250
01 AP 22| H| 3,750 3,750 0
o252 eodstn 24 3,750,000 x14! 3,750
= 1,500
= 2,250
AAS A2 1,427,424 768,200 659,224
= 29,800
= 1,397,624
SEe2MAEH2YE 1,427,424 768,200 659,224
< 29,800
= 1,397,624
201 2Et24Hy| 463,144 312,700 150,444
01 AP 22| d| 51,844 57,100 N5,256
OESs2HAdH 2 T2y EYH ¢
250,000 x4 3| 1,000
OEBANEXN, MEUH 58 223 ¢
600,000 x4 3| 2,400
O2d/AK sS4 70,000 x5 «23| 700
OZJ|&3) s 100,000& =2CH x12& 2,400
OCCTV Sg2HE ATEAN 40l&A
440,000 *100H 44,000
OCCTV ES2ZMHE HL=X SH(EN)
8,000 x2H »7 x12& 1,344
02 22244l 411,300 255,600 155,700
OCCTV S&&2HEEH SAE 2|
6,225,000& x12& 74,700
OXEFLH=EEZ CCTV KX 22|
1,300,000 x12& 15,600
OCCTV & E3lHd AME= 24,500,000& x12& 294,000
OSs&HA EMIANEE L 2Z2AER
2,100,000& x12& 25,200
OXtgFot CCTV & DI AF 150,000& 12& 1,800
202 o4 H| 3,120 0 3,120
01 2Ll 3,120 0 3,120
OSS2HMAEH 29 HA (W)
130, 000& 2 12 3,120
307 2Iz2t0| & 420,000 374,000 46,000
05 QIZ2tR EF 2 420,000 374,000 46,000
OCCTV S &2 HHE Q2RE 22H
105,000,000 x4 3| 420,000
401 AIEHIZ 201 Y| 359,000 20,000 339,000
o= 29,800
= 329,200




SN BEIE D
E: HX2H P
Hel dasaael (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 Al &bl 356,416 20,000 336,416
OXYHSE CCTV EXAE
210,000,000% *99.28/100 208,488
OYYE CCTV &X A
149,000,000& *99.28/100 147,928
< 29,800
fia 118,128
03 Al 2 THHI 2,584 0 2,584
OXHHSE CCTV EXAE
210,000,000& *0.72/100 1,512
OYYE CCTVA XI ALY
149,000,000% *0.7191/100 1,072
405 XHoHF S HI 182,160 61,500 120,660
01 AL EZFH S 182,160 61,500 120,660
OCCTV it =& 720,000& *30CH 21,600
OCCTV SAMEEI(AELRAX) tELAT B
o 44,000,000 * 14 44,000
OCCTV & =ZHHAH 2 15,060, 000& 14! 15,060
OXEH=EE CCTV 22 AMH 2L (HMAS)
13,400, 000& 14 13,400
OXgHsSEMAY 2 9,400,000 14! 9,400
OCCTVEE Z M HEH HALE Hiolefs &2Al
Ag Y 9,700,000& 14! 9,700
OCCTV IHARE ZCIAIAE Y
39,000,000& » 14! 39,000
OXlsdg CCTV X 2 &clAlAE
1,300,000& »20CH 26,000
occve gd 2 400,000& = 10CH 4,000
OlchXIed WsI|et &= 1,044,306 797,414 246,892
ANy A3at 388,440 351,320 37,120
NESRE 84 388,440 351,320 37,120
101 14l 6,000 0 6,000
03 RIAHAZZ2HE = 6,000 0 6,000
OZ22%& WsHHI 500,000& =12 6,000
201 Let249] 195,000 163,000 32,000
01 At 22l 195,000 163,000 32,000
O & B2 w=l 250,000 *320H 80,000
OZZ X030l 600,000& x120H 72,000
O32& =Zot3tdlal 600,000& x60H 36,000
OXMuE ZA=E 500,000& 103l 5,000
O&etn@d gdotatdol 28223 ¢
2,000,000& 13 2,000
202 (44l 167,440 168,320 A 880




HEDNR=g-Lpses

D AHEXAE Y

CDIcHAIEE nsI|g &5
F'(.DI: 2

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
NIEECE 7,440 7,320 120
OB2Y IS+2 L LN 28 (5%)
130,000& x2H »12& 3,120
O2AMAE o4l 20,000& «183| x12& 4,320
05 22 Ws0HY| 160,000 156,000 4,000
O32& s 0oyl 160,000, 0003 * 14! 160,000
307 QI2t0| & 20,000 20,000 0
05 A2t E = 20,000 20,000 0
O&orng &dok2td 0l
20,000, 0003 *14] 20,000
dst= 29 588,836 413,714 175,122
otME s 2Y 588,836 413,714 175,122
101 @1 21| 1,382 83,751 N 82,369
04 JIZtHIZ22XNHSE 1,382 83,751 AN 82,369
Oflot&sl= HxHH ¥ 2 A ol 1,382
—-J23 63,070& x2H x103] 1,262
— S| 2,000& 2% %103/ 40
=] 4,000& x2H *103] 80
201 et A H| 179,778 142,460 37,318
01 AFR2t2l Yl 37,300 45,630 A 8,330
Odststs2 Az Y
0,000& *5A| 2t+2 0t S 102 10,000
Q&oLES = AIR2EEH| 600,000& x12& 7,200
OsaldusMes=zs 220,000 =20 = 12& 5,280
O &ty & E 4| 500,000& *x13] 500
Oa U4l 200,000& *63l 1,200
OFdEE 2 250,000& *123| 3,000
OFAMNE2IE2S 2L 300,000& x12& 3,600
O8I L Eeate 4,000,000 *14] 4,000
OUYMNMLALAAZ S 70,000 *4H x 13| 280
OXxcl&, LA, A ME 2
100, 000& x5 x23] 1,000
OYAYA, Z2le M
60,000 *13| x4H 240
oz, X 8 #2¢ 1,000,000& 1,000
02 332494l 142,478 96,830 45,648
OAgotdE 3 Y| 50,000& *13] 50
O&s=s M3 4,000,000& x12& 48,000
O&e = Aol 22 1,000,000& x12& 12,000
OHst= IAR=2 900,000& x12& 10,800
O&se= Mg & Hol= 600,000& x12& 7,200
OsA |22l 250,000& x12& 3,000




AR E= DAL=

Mo OYKER DS S5
29

Sl RoIE st CEEEED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
ORol &l bl 200,000& = 12& 2,400
OAagotd & A 160,000& *12& 1,920
O&EI|otA E A Y| 180,000& = 12& 2,160
OHE X222yl 1,200,000& x12& 14,400
O&HI s Xl &2l bl 1,000,000& x12& 12,000
odldiol & 16,5002 46 CH *12& 9,108
OFx=J & 20,000 x6CH x12& 1,440
Oy ordalA & 221]] 52
5,800,000& x 14 5,800
O3S &A NHU =2l 2,200,0003 * 14 2,200
oAl & HI 8 4,000,000 *14] 4,000
Oti=2 % 222 =2l 6,000,000 =14 6,000
202 04| 4,680 8,880 N4, 200
01 2LHOHI 4,680 8,880 A4, 200
OXst= A2EO(EH) 130,000& *x3H x12& 4,680
301 Bt A= 174,496 172,323 2,173
12 JEtE &2 174,496 172,323 2,173
OYAM 2HAH S 2,000& *82H x200 32,800
OMdZANEHZ AL
4,000 82 360 120/ 100 141,696
401 Al HI L 2 0HHI 220,000 0 220,000
01 A& HI 220,000 0 220,000
OxIotEst= MY WS WX
220,000,000 * 14 220,000
405 XHo&HF SHI 8,500 6,300 2,200
01 JtAY = ZFSHI 8,500 6,300 2,200
Otre AxX0] 2 1,700,000& *5CH 8,500
F o A2 67,030 32,380 34,650
ooy &9 20,000 20,000 0
201 et A | 20,000 0 20,000
03 S AIS H I 20,000 0 20,000
oorors 20,000, 0003 *14] 20,000
FOUTXMEHES 47,030 12,380 34,650
201 LEt2 Y| 11,380 11,380 0
01 AR 22| I 1,380 1,380 0
OFoUXNXE2z B89 20,0002 x11H <43 880
OFQUXNXAKE Z2T HMZ 100,000& «5H 500
03 A2 H H 10,000 10,000 0
OFUXNXNAY =23 WE
10,000, 000& =14 10,000
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PN HEX D
HE: BASSHE 2
S BassNs 29 EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 6,500
s 24,750
02 IZtE M AHEE 31,250 31,250 0
OH=s: BHNE 43 NJAY
16,250, 000& 14! 16,250
< 6,500
i 9,750
OmMSZIIZ T208 XA
15,000, 000& 14! 15,000
ZMsts=H &0t & A 28,000 10,000 18,000
< 10,000
e 18,000
201 24l 25,000 10,000 15,000
< 10,000
s 15,000
03 A2 Z Hl 25,000 10,000 15,000
OM133l &tz HAUSSEFAUNXAHS0HE
25,000,000 =14 25,000
< 10,000
e 15,000
301 et d s 3,000 0 3,000
09 HALAHIEA S 3,000 0 3,000
O&letz BHMsts HS0tY IR AdlE4
20,000& x150H 3,000
HOolZo WS X & ALS 20,000 20,000 0
< 8,000
s 12,000
301 et d = 20,000 18,000 2,000
< 8,000
[ia 12,000
12JEEd= 20,000 18,000 2,000
OHUZHNF X AAE &E2AtHI
20,000,000& =14 20,000
< 8,000
s 12,000
=5 W= A 3,034,088 1,864,580 1,169,508
< 129,700
s 2,904,388
NEHAHE XSS DS 3,034,088 1,864,580 1,169,508
< 129,700
s 2,904,388
PNRS:EME= - Faleiy 2,902,688 1,862,580 1,040,108
< 129,000
[ia 2,773,688
201 Let24d| 5,488 4,720 768
01 At 22/l 5,488 4,720 768




2N
X ZH -
L= B

el

Fan;
ME=S=PN
HE &=

Mg
8 DSA

2A-F3H-H2A(3) - MY - BES O] Ak %Ei Hns2Z
OUSHMARARAS < 70,000% 10 *43] 2,800
OuUEAXMNA LRZA SAH (ZBH)
8,000 +4H +7 x 128 2,688
202 01| 3,120 3,120 0
01 2LHOIHI 3,120 3,120 0
OUSXNHEERFX(SH) 130,000 2 «128 3,120
306 013 1,157,500 770,000 387,500
(ESEEE 1,157,500 770,000 387,500
OSsM i HAEY 1,250,000 *160H 200,000
O22¢ Mg gz X
57,500,000 « 14 57,500
OMEnsina 29 40,000, 0002 14! 40,000
ORQEAHA 22X (HETHS )
40,000, 0002 14! 40,000
OZFCHAIZHSHIHE IS (S DAY Z&)
200,000,000 *124] 200,000
OZXCHAIZ SIS &Hst3 X3
200,000,000 *124] 200,000
ONEAZ ZH& 3 420,000,000 *14] 420,000
307 ©I2t0| & 60,000 0 60,000
02 DIZHH A ALY B X 60,000 0 60,000
Ous=X WERD XYM
40,000,0002! 14! 40,000
OUtn|II2 SH5 T2 XA
20,000,000 14 20,000
308 AHXI SHRI SOl & 1,676,580 1,084,740 591,840
[ 129,000
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